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name the main sampling method used. (2 pbints each)
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c. Convenience sampling
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4. Does the herb Echinacea help the common cold? A study by esearchers at the University of
Wisconsin-Madison published a study in the Annals of Internal Medicine that found that
Echinacea was no better than a placebo. The researchers randomly assigned 142 college
students who recently came down with colds to receive either Echinacea in capsule form or a
placebo in capsule form. The students did not know if they were getting the herb or the placebo
and took their tr|=atment for 10 days. The researchers reported that there was no statistically
significant difference in the duration of the cold between theqe groups.

a. What is the population for the study? (3 points)
wdolly of & ol A ‘ |
b. What is the sample for the study? (2 points) |
143 collage sudanty usf colds
c. lIsthis a randomized, placebo-controlled experiment? Wﬂ‘y or why not? (2 points)
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d. Name the treatments. (3 points)
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e. What is the explanatory variable? (2 points)
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f.  What is the response variable? (2 points) |
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g. Isthe experiment a block design? Why or why not? (2 paints)
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h. s it blind, double blind, or neither? Explain. (3 points)
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6. The table of 20 math test scores is shown below. Find the indicated statistics.

93 68 52 99 94 72 61 100 [58 61
81 66 73 72 88 90 79 85 83 77
a. Mean and mode (if it exists). (3 points) |
X = 34 b mede . 1, 2

b. The 5-number summary (4 points)

Mida. = S Q3 - 87
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Maex = IoO .
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c. (Sample) standard deviation. (3 points)
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d. Draw a box plot of the data (to scale). (4 points)
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7. Astudent answers a 4-question quiz with only True and False as possible answer choices for
each question. List the sample space of possible answer choices for the quiz. (6 points)
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8. Acard is drawn from a standard deck.
a. What is the probability the first card drawn is a heart? (2 | oints)




b. Whatis the
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robability of drawing a heart, and then a club (without replacement)? (3 points)
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9. How many outcomes are possible in the following scenarios?

a.

A password i
such passwo

A board of d

is 10 characters long, is case sensitive and numbers can be used. How many
rds are possible? (4 points)
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rectors has 15 members. How many ways can they elect a slate of three

officers (president, vice president, and secretary)? (4 points)
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ISF3 = 273

The math de%partment selects 5 faculty members to serve on a special committee. How
many different committees are possible if there are 29 faculty in the department? (4 points)

10. If the odds of anjevent are 2: 7,
a. Whatisthe ||Jrobability the event will happen? (2 points) -
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b. What is the probability the event will not happen? (2 points)

11. Find the expected value of the probability distribution below. (4 points)
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Some useful formulas:

lls 275 tickets at a cost of $5 each. They give away the following prizes: 1 first-
$2000, 1 second-place prize worth $500, 2 third-place prizes worth $100, and
izes worth $10. Find the expected value of purchasing a ticket. (6 points)
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